
Arabic HW [5] 

Complete the missing letters or Harakat. 

2F means two females, 3+F means three or more females.  

2M means two males, 3+M means three or more males. 

 

 


 	َ �ْ �ِ ا�ْ  ِ�� َ
 ة
 

 

The girl is clever. 

 


��ِ � 	َ �َ �َ ا�ْ  
 

 

The boy is clever 

 

 ؟نِ تَ 
َ ��ِ 	َ  ؟نِ 
َ �ْ �ِ ا�ْ 

 

 

The girls
2F
 are clever

2F 

 

 ؟نِ 
َ ��ِ 	َ  ؟نِ �َ �َ �َ ا�ْ 

 

 

The boys
2M
 are clever

2M
 

 

 ات
َ ��ِ �ت 	َ �َ �َ ا�ْ 

 

 

The girls
3+F

 are clever
3+F 

 

 �ر�� د 	ُ و�َ ا�َْ 

 

 

The boys
3+M

 are clever
3+M 

 

�ِ ا�ْ  َ� ؟نِ �َ ا�ِ وَ  ؟نِ 

 
The players

3+F
 are standing. 

 
 

 

 ِ  ْ� َ	 
 ِ�� َ
 ة
 

 

A clever girl 

 


��ِ !َ ا�� �َ �َ ا�ْ  
 

 

The clever boy 

  



 

 ِ  ْ� َ
 ؟نِ تَ 
َ ��ِ 	َ  ؟نِ 

 

 

Clever girls
2F 

 

 ؟نِ 
َ ��ِ 	َ  ؟نِ �َ �َ وَ 

 

 

Clever boys
2M 

 

 ات
َ ��ِ �ت 	َ �َ  َ 

 

 

Clever girls
3+F 

 

 �ر�� !ُ ا�د و�َ ا�َْ 

 

 

The clever boys
3+M 

 

 َ� ِ� َ� ؟نِ �َ ا�ِ وَ  ؟نِ 

 
Standing players

3+M 

 
 


